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PART.B

Write a prograrn to concatenate singly linked lists'
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which carries 25 marks. Answer all questions in Part A'

part B consists of 5 units. A;;;". any one full question from each unit'

nacr, quesiio, "*'i"' 10 marks and may hu'" u' b' c as sub questions'
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What are the disadvantages of an array? l2l

Explain how to find theiperformance of an algorithm' t3l

What are the disadvantages of qqeue which i-s implemented using array and-how

to overcome.it? :.-'.."'. :"' ''[?J' "'

Differeiuf.ddibetween driublv.iand "tr""f#-iirrfLd 
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Explain how binaryt 
"" 

i,,Ip.esented rNingun array_ and linked list tzl

Explain the threadeOUinu'y tree with suitab]e example t3l

Define Hash Clashing. 111
Co*p*" Selection s6rt and Quick sort with an example' [r]

Write an.algorithm to insert'an element ilig*F binary seqrq['14ee' ;W\:"'.t,
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i.,8rl):, ,'.b} Write aiihl$brithm of Lihiea{i$earch. i"..' i'.:i i""','.

Sort the following list of dlEnients by usiirg InSertion Sorr '

15,28,46,10, 35, 54,5, L7

OR
Insert the following list of elements into the hash table by using Linear Probing
(size of the hash table is 10)
36, 48,W,iZ{,23,81 ,1$,:.l2:i i:,,' :..,1
Explairi the'Radix sort with an example." ' ""

10.a) Construct the AVL tree of the following data
20, 40, 25, 19, 15, 5, r0, 46, 6CI

,i::| Draw'i,:,i3i chart of 'flrllr "n";t"l;:,!:1,1r'", 
tree' 
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11.a) Consider the string : "GCATCGCAGAGAGTATACAGTACG"
string is "AGTATACA" by using the KMP algorithm.

b) What is trie? Explain the compressed trie with an example.
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